Pulse Phase
0.0 02 04 06 08 10 1.2 14 16 1.8 20

> 0.1 CeV J1528—5838. P = 0.3557 s, b = —1.8°. GU, q
100 = 552.4, tint = 11.4 yrs 7
= .
= ’
—~~
= 80 I|
= \
©,
O .
E b
_________________________ H S | Y U |
60ger . o 1 M
= ! ! !
e
—~~
e
-
-
©,
O
— :JJ—#—!—!—'F—H—*—!—‘: - -—
= 1.0-3.0 GeV |
e -
—~~
E i ]
= 30f ]
8 I 1
; 20 -_:_EEEEEEEEEEEEEEEEEEEEEEEEE:_:::_ L e T et . 1 o1 ] 4L L1 1L (s
10 —+—— —— } } } : } : } } ———————
= . H, =376 0.3-1.0 GeV
e i 1
@ 32f -
= I 1 1 1 1 I |
% ______ " T | I SR || R | TR | T Y AT || IR
SEEE. | |
Q T ST FULE N ol Y i 1 L™
7 S N NN
3= ~ Hy =06 0.1-03GeV
i) 9.6 _
—~~ ]
E
g 90 | _ ~t-UFHHA- __ I i __ JE Ut | __[I- TR S Ht- _fH- | iR __ - .|| | L
O
% 8.4 . -
0025_:::}:::}:::}:::}:::}:::}:::}:::}:::}::_
= - H, =124 0.05 - 0.1, GeV
e
Z 020, | Lt | '
+ 020N o 1 TR A | SRR I SO 1 | R (RS AEER R 1 [ | T W
% I II |I I |I | 1 | __ | |I I |I I | |
L B e O | AT e B | O |||
Q 0.15F ' | ;

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0
Pulse Phase



